
How works a resonant converter? Part 2 
 
UC = UB – UB *cos(wt) 
IL = Ipeak * sin(wt) 
IRMS  = Ipeak  /Ö2 (when sinusoidal) 
Ipeak   = C w 2 UC  = C w  4 UB 
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è WC = C4U2

B  ½ =2 C U2
B = 2QUB = ½  WB 

 

There is only half of the energy supplied by the battery on the C! 
The other half has dissipated as heat! 
 
What to do to reduce this loss? 
 
Since    
w 2 = 1/LC   
w = 2pf =2p/T 
Z = Ö L/C  = Impedance  
I = U/Z 
 
The system loss on charging the C can be reduced by selecting C very small and L very large 
at same frequency w, so that the charging current I for the capacitor and thus the energy stored 
on the C gets minimal. 
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